FCEEa—R IIBEFVOBESE
FRNEREFEICEDSEMNEZOREICDOINT

2024 & 3 H 1 H

YAN
[ 202444 A 47] R R Bk 2t 2 Ak

OB R AR I BE &0

HADFEEHTERE DEENTISEU T, 88 . HRAOBALEH(1m 5720 O B & T5% 3 5 &) B
T, R E L — MEA AR BRI LA MR DR Bh 2 duR 120 AR 2 K R X
®¥5HEZHRPEL, TANEERFRE SR ERANCE S3LDTY,

LitE. BA. (3. RAEREMHEOBERAEE])ZHSTHETF LR O S R EHRE A ELE T R EMEE
(82,660M)# LREIYXIETREIDIGEIL. FERDAYHEAHEDRAEEZITOET,
1. [BEMEROZE 1002 DE, 1Tm3&f=Y 0202 B SEFARLES,
2. EHFREMERAEETHFERMERD1. 665(132,260MEBA 5L, HEFHYFEH
& 1. 64£(132,260M) % LRELTHRELET,

3. ARBMHEDEAEE
M1 B ~3BDEYERMEEEETYERBEEOER (T E 6 ARHMPOELSICRBEEET,
Q2B ~4BOEHFEHEREAETHRHBROER (T8 % 7ARMIOHEICRBEEET,
@3B ~58NEHEHMEEALETYERBEEOER (THH)E SARMPOHLICRBEEET,
@4A~6 AN T FEEEEEAETHREMBEOER(LE)F IARHSDOHEIZRSEET,
G50 ~7ADFEHEFMEEEELTHEREEOER (ZHE 10ARMP OB RBSEES,
©®6H~8ANEHEIMAREALEHEREKROZER (ZTHE 11 ARMPOHSICRBEEET,
D7B~9B DEHFEHEEEAETHRERMEEROER (EHE 12BRHSDOHSICRBEEET,
®8H~10ANTEHFELHEKALETHEMBRDOER (B E DE1ARHP OB RBEEET,
@98 ~11 ADFEHEEHEK B EFHEEEKOZER (8% DE2ABRMP OB ICRBEEET.
@®10A~12BDFEHFERMEEELLET Y FREEDER (L8 % BEIARHIDHSICRBEEET,
D1 A~BFE1BOFEYFEREREEETHFEREEOER (8 E TEIERMDOHSICRBEEET,
@12A~FE2BOFEHEREREEETHEREROER (EH)E TE5ERMI)OHLSICRBEEET,

SR EEHTi % = [[90,590 |F(he2Y7-0)EEMIM: 2023411 H ~20244F1
ST ERMIRS = [ 82,660 (e 47-h)
@ FUBHi s B E O T E
C(FCBMTFR ZSBhAE) = PHIFURMEAR — JLvEPH OBl
= 90,590 Mt — 82,660 Mt
= 7,930 Mt
= 7,900 M/t (100 KU T)
@ LN EH e DT A B
G

0.202 [ ,/m’ X JFUEHIit& Z58h%8 .~ 100/
0.202 1, /m® x (7,900 H/t) 100
15.95 1 /m® (Bitk:2E1MH)

= 1754 [/m’ (BAR)
@ BN BB D E

(FEEHALEE) = JRMEHACBMG + SR
Bt RO B X /32T SIS0,



FCEEa—R IIBEFVOBESE
FRNEREFEICEDSEMNEZOREICDOINT

2024 & 4 H 1 H

YAN
[ 2024454 47] R R Bk 2t 2 Ak

OB R AR I BE &0

HADFEEHTERE DEENTISEU T, 88 . HRAOBALEH(1m 5720 O B & T5% 3 5 &) B
T, R E L — MEA AR BRI LA MR DR Bh 2 duR 120 AR 2 K R X
®¥5HEZHRPEL, TANEERFRE SR ERANCE S3LDTY,

LitE. BA. (3. RAEREMHEOBERAEE])ZHSTHETF LR O S R EHRE A ELE T R EMEE
(82,660M)# LREIYXIETREIDIGEIL. FERDAYHEAHEDRAEEZITOET,
1. [BEMEROZE 1002 DE, 1Tm3&f=Y 0202 B SEFARLES,
2. EHFREMERAEETHFERMERD1. 665(132,260MEBA 5L, HEFHYFEH
& 1. 64£(132,260M) % LRELTHRELET,

3. ARBMHEDEAEE
M1 B ~3BDEYERMEEEETYERBEEOER (T E 6 ARHMPOELSICRBEEET,
Q2B ~4BOEHFEHEREAETHRHBROER (T8 % 7ARMIOHEICRBEEET,
@3B ~58NEHEHMEEALETYERBEEOER (THH)E SARMPOHLICRBEEET,
@4A~6 AN T FEEEEEAETHREMBEOER(LE)F IARHSDOHEIZRSEET,
G50 ~7ADFEHEFMEEEELTHEREEOER (ZHE 10ARMP OB RBSEES,
©®6H~8ANEHEIMAREALEHEREKROZER (ZTHE 11 ARMPOHSICRBEEET,
D7B~9B DEHFEHEEEAETHRERMEEROER (EHE 12BRHSDOHSICRBEEET,
®8H~10ANTEHFELHEKALETHEMBRDOER (B E DE1ARHP OB RBEEET,
@98 ~11 ADFEHEEHEK B EFHEEEKOZER (8% DE2ABRMP OB ICRBEEET.
@®10A~12BDFEHFERMEEELLET Y FREEDER (L8 % BEIARHIDHSICRBEEET,
D1 A~BFE1BOFEYFEREREEETHFEREEOER (8 E TEIERMDOHSICRBEEET,
@12A~FE2BOFEHEREREEETHEREROER (EH)E TE5ERMI)OHLSICRBEEET,

SR EEHTi % = [[90,040 |F(hoY7-0)EEMIM: 2023412 H ~20244F2
ST ERMIRS = [ 82,660 (e 47-h)
@ FUBHi s B E O T E
(FCEM RS ZZBhAE) = “FRRCEMEAR — IRV TR FURMfi
= 90,040 Mt — 82,660 Mt
= 7,380 Mt
= 7,300 Mt (100HAKJs9#EO
@ LN EH e DT A B
G

0.202 [ ,/m’ X JFUEHIit& Z58h%8 .~ 100/
0.202 1, /m® x (7,300 H/t) 100
14.74 /M /m® (Bitk:2E1H)

= 1621 [M/m’ (BIAR)
@ BN BB D E

(FEEHALEE) = JRMEHACBMG + SR
Bt RO B X /32T SIS0,



